Test 1 Test 2
Attempt 1|pass uav audible 1|pass
No RFID Antenna 2|pass uav audible 2|fail
3|pass uav audible 3|fail
4|pass uav audible 4|fail
5|pass uav audible 5|pass
6/|fail 6|pass
7|pass uav audible 7|pass
8|pass uav audible 8|pass
9fail 9|pass
10|fail 10jfail
11|pass uav audible 11|pass
12|pass uav audible 12|fail
13(fail 13|pass
14jfail 14(pass
15|pass uav audible 15(pass
Attempts 15 15
Pass 10 10
Fail 5 5
Failure % 33% 33%
|Grand Total 75
|Pass 51
[Fail 24
|Fai|ure Rate 32%




Test 3 Test 4
uav audible 1{pass uav audible 1{fail
2|pass uav audible 2|pass
3|pass uav audible 3|pass
4|pass uav audible 4|pass
uav audible 5|pass uav audible 5|pass
uav audible 6/fail 6|pass
uav audible 7|pass uav audible 7|pass
uav audible 8|pass uav audible 8|fail
uav audible 9|pass uav audible 9fail
10|pass uav audible 10|pass
uav audible 11|pass uav audible 11|pass
12|pass uav audible 12|fail
uav audible 13jfail 13jfail
uav audible 14jfail 14|pass
uav audible 15|pass uav audible 15|fail
15 15
12 9
3 6
20% 40%




Test 5
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1(fail

2|fail

3|pass uav audible

4|pass uav audible

5|pass uav audible

6|pass uav audible

7(fail

8lfail

9|pass uav audible
10ffail
11|pass no audible
12|pass uav audible
13|pass uav audible
14|pass uav audible
15|pass uav audible
15
10
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33%
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